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Third Year Examination in Arts (Economics) — 2018
(End of First Semester)
ECN - 3149: Intermediate Financial Accounting
Time: Two (02) hours only

Answer four (04) questions only

Question 1
1. What is the meaning of the word “working capital™? (05 Marks)
2. Define the word “working capital cycle” | (05 Marks)

3. Financial information for ABC Ltd is given below. Calculate the Operating Cycle.

(10 Marks)
Sales 800,000
70% of the sales are on credit basis.
Cost of Goods sold 720,000
Beginning of the year End of the year

- Inventory 96,000 102,000
Accounts receivable 86,000 90,000
Accounts payable 56,000 60,000

Question 2

1. Who is a “resident person” in relation to Income Tax Laws of Sri Lanka?

(05 Marks)

2. Name 03 types of income sources of an individual that is taxable under income
tax. (03 Marks)
3. Name 03 types of income sources of a corporate that is taxable. (03 Marks)

4. A company had a sale of Rs 500,000 Including the Value Added Taxes of 15%.
During the same period the company had purchased items worth Rs 250,000 and
had paid Rs 25,000 as Value Added Taxes. Calculate the Output tax, Input tax and
the amount of VAT that needs to be paid by the company for the period.

(09 Marks)



whal 4O You undersiand py € ierm L orporai€ uovernance 1 e Coniexi cr a
corporate entity? (05 Marks)

. Corporate Governance came into prominence in 1970s. In your opinion what are

the driving forces behind the introduction and development of Corporate
Governance rules. (05 Marks)

. Companies face various risks and face problems due to the lack of corporate

governance. Name such 05 risks/problems. (05 Marks)
Hlustrate a corporate scandal in Sri Lanka that happened due to the lack of
corporate governance. . (05 Marks)

Question 04

1.

P
3.

What is the difference between a “not for profit organization” and a company
incorporated under the Company’s Act? (04 Marks)
Name 02 not for profit organizations and their objectives. (04 Marks)
Following data is available with the Treasurer of Janajaya Society. You are
required to prepare the Income Statement using the following data. (12 Marks)

(i)  There are 746 members and the annual membership fee per member is Rs
100. However 03 members have not paid membership fees while the others
have paid.

(i)  Annual telephone charge is Rs 840 but only Rs 720 was paid

(iii) At the annual flag sale ceremony Rs 86,400 was collected while a balance
of Rs 1600 is yet to be received.

(iv)  Electricity payment was Rs 1450 and prepaid amount was Rs 150

(v)  Following payments had been made for the year

Payments as donations Rs 1200

Purchase of stationery Rs 520

Payment as an aid Rs 2500

Purchase of papers Rs 1280

Rent paid Rs 7000
Refreshment expenses Rs 640

(vi) Following amount has been received !

Donations Rs 40,000

Sale of old news papers Rs 200



. Comment on the profitability of the company for the two years 2015 and _

based on the following ratios. (10 Marks)
Gross Profit Net Profit
2015 15% 10%
2016 25% 5%
2. Comment on the Liquidity of the company for the two years 2015 and 2016 based
on the following ratios. . (10 Marks)
Current Assets Ratio Quick Assets Ratio
2015 25 :1.0 1.1 : 1.0
2016 1.1 : 1.0 05:1.0
Question 6

1.

We usually compare ratios with certain comparable, if those are to be understood
with some meaning. Name and describe 04 such standards of comparisons.

(04 Marks)
Following information are available for two Companies in the Constructions
industry with the Industry ratios.

Company A Company B Industry
Debt : Equity 90% 10% 80%
Earnings per share Rs 10/- Rs 1/- ‘ Rs &/-

(Equal issue price per share A and B)

(i)  Comment on the Debt to Equity ratio of Company A in comparison to

company B and Industry. (04 Marks)
(i) Comment on the Earnings per share ratios of the Company A in comparison
to Company B and Industry. (04 Marks)
(iii) Based on the above two information which company you will invest? Give
reasons to justify your answer. (04 Marks)
(iv) What other information is required for you to make economic decision in
investing? (04 Marks)



